
tir)K vir smy Fi[rN 9 Fi[rN 11 {si.p\.} Fi[rN 11 {(v.p\.} ni[>F

03-04-2024 b&Fvir 8-00 Y) 10-00 kÀ¼y*Tr kÀ¼y*Tr kÀ¼y*Tr

04-04-2024 g&r&vir 8-00 Y) 11-00
(c#ikim / kZ(P(vwi E(this /B*gi[L ---

05-04-2024 S&k\vir 8-00 Y) 11-00
yi[g an[ Si.(SxN (hºd) Bi](tk (vXin

06-04-2024 S(nvir 8-00 Y) 11-00
s>AkZt / ar[(bk ni.m*. /s>AkZt s>AkZt

08-04-2024 si[mvir 8-00 Y) 11 -00
a>g\[J aY<SiA#i g(Nt / Jv(vXin

09-04-2024 m>gLvir 8-00 Y) 11 -00
simi(jk (vXin g&jrit) ---

12-04-2024 S&k\vir 8-00 Y) 11 -00
g(Nt ai>kDiSiA#i /tRvXin rsiyN (vXin

13-04-2024 S(nvir 8-00 Y) 11 -00
g&jrit) vi(Njy ÄyvAYi/mni[(vXin ---

15-04-2024 si[mvir 8-00 Y) 11 -00
(vXin a>g\[J a>g\[J

16-04-2024 m>gLvir 8-00 Y) 11 -00 (hºd) s[k\[.p\[k.an[ vi.p#i Äy./smijSiA#i ---

   s>cilk

 ti.20-02-2024www.sssankul.org

{2} ai smyp#ikmi> jNiv[l tir)K an[ smy m&jb j dr[k (vPyi[n) pr)xi l[vin) rh[S[.

{4} Fi[. 11 uwi[g t[mj Sir)(rk (SxNn) pr)xi SiLi kxia[Y) l[vin) rh[S[.

     t[n) s>p*N< jvibdir) j[ t[ SiLini aiciy<~)n) rh[S[.

{1}  Fi[.9 an[ Fi[. 11{si.p\./ (v.p\.} ni[ a¿yisk\m, smy,p\âp#ini p(r$p an[ g&NBir ai siY[ aipvimi> aiv[l mi(ht) m&jb rh[S[.

{5} rjiai[ : {1} ti.10-04-24,b&Fvir-c[T)ci>d/g&D) pDvi[ {2} ti. 11-04-24,g&r&vir-rmjin Ed 

            sirAvt (SxN s>k&l         

                  vi(P<k pr)xi  a[(p\l -2024
              

{3} p\âp#ii[n) g&¼tti jiLvvin) tYi pr)xi dr(myin ki[EpN km<cir) k[ (vwiY)< oiri p\âp#in) fi[Ti[ki[p) krvimi> nh) aiv[ 

agRyn) s&cni :

pr)xin&>  smyp#ik 

mi¹y(mk (vBig / u.mi¹y(mk (vBig 

http://www.sssankul.org/


 

 

 

 

  

vi(P<k pr)xi a[(p\l – 2024 

Fi[rN – 9   

 --- (vPyi[ , k&lg&N, smy,a¿yisk\m,p(r$p tYi g&NBir 

 m&²y (vPyi[ -{1} g&jrit) {2}g(Nt {3}(vXin  {4} simi(jk (vXin {5} a>g\[J  

       {6}(hºd){7}s>AkZt {8} ar[(bk 

 k&l g&N – dr[k p\âp#ii[ 80 g&Nni rh[S[. 

 smy –    3.00 klik 

--- gi]N (vPyi[ - {1} kÀ¼y*Tr {2} (c#ikim {3} yi[g an[ Si.(SxN {4} kZ(P(vwi  

 k&l g&N – 40 g&N Y)yr) {MCQ pÜ(t m&jb} - 40 g&N p[\kT)kl {SiLi kxia[ l[vin)} 

 smy –   1.00 klik {(c#ikim MCQ  1.00 klik, p\iyi[(gk 2.00 klik}       

 a¿yisk\m – s>k&ln) v[bsiET tYi vi[T`sa[p gZp pr m*k[l vP< 2023–2024 m&jb ni[ s>p*N< rh[S[. 

 p\âp#i p(r$p – s>k&l oiri aipvimi> aiv[l vP< 2023-24ni vi(P<k pr)xi a[(p\l-2024 ni> p(r$p  

   m&jb rh[S[.  

 g&NBir –  

 

 (vPyi[ : -{1}g&jrit) {2}g(Nt {3}(vXin {4}simi(jk (vXin {5}a>g\[J 

  {6}(hºd) {7} s>AkZt {8} ar[(bk  

j&n Y) s¼T[Àbrni a¿yisk\mmi>Y) -       20 g&N 

       ai[kTi[br Y) D)s[Àbrni a¿yisk\mmi>Y) - 20 g&N 

          jiºy&air) Y) mic<ni a¿yisk\mmi>Y) -      40 g&N  

            k&l           80 g&N 

 (vPyi[ : {1} kÀ¼y*Tr {2} (c#ikim  {3} yi[g an[ Si.(SxN {4} kZ(P(vwi 

-  j&n Y) s¼T[Àbrni a¿yisk\mmi>Y) -         10 g&N 

          ai[kTi[br Y) D)s[Àbrni a¿yisk\mmi>Y) - 10 g&N 

             jiºy&air) Y) mic<ni a¿yisk\mmi>Y) -      20 g&N   

              k&l           40 g&N 

            

 

 

  



 

 

          

 

vi(P<k pr)xi a[(p\l – 2024  

 Fi[rN – 11 {si.p\.}  

 --- (vPyi[ , k&lg&N, smy,a¿yisk\m,p(r$p tYi g&NBir 

 m&²y (vPyi[ -{si.p\.}  

{1} a>g\[J {2} g&jrit) {3} (hºd) {4} s>AkZt {5} mni[(vXin {6} nimini m*LtRvi[ {7} vi.ÄyvAYi  

{8} aY<SiA#i {9} ai>kDiSiA#i {10} smijSiA#i {11} s[k\[.p\[k.an[ vi.p#iÄyvhir {12} tRvXin  

{13} B*gi[L {14} E(this {15} kÀ¼y*Tr a¹yyn  

 k&l g&N – dr[k p\âp#ii[ 80 g&Nni rh[S[. 

 smy – 3 klik -  {kÀ¼y*Tr - smy-2 klik} 

ni[>F : {1} a>g\[J {2} s>AkZt {3} kÀ¼y*Tr (vPyni {si.p\./(v.p\.}ni p\âp#ii[ a[ksrKi rh[S[. 

 a¿yisk\m – s>k&ln) v[bsiET tYi vi[T`sa[p gZp pr m*k[l vP< 2023–2024 m&jb ni[ s>p*N< rh[S[. 

 p\âp#i p(r$p –s>k&l oiri aipvimi> aiv[l vP< 2023-24 ni vi(P<k pr)xi a[(p\l-2024 ni> p(r$p  

  m&jb  rh[S[.  

g&NBir –  {si.p\.} tmim (vPyi[ miT[ n)c[ p\miN[ni[ rh[S[. 

j&n Y) s¼T[Àbrni a¿yisk\mmi>Y) -       20 g&N 

       ai[kTi[br Y) D)s[Àbrni a¿yisk\mmi>Y) - 20 g&N 

          jiºy&air) Y) mic<ni a¿yisk\mmi>Y) -      40 g&N  

            k&l           80 g&N 

 

 

 

 

  (l. 

 

 

 

s>cilk 

  sirAvt (SxN s>k&l 

 

 

 

 



 

 

 

         

vi(P<k pr)xi a[(p\l – 2024 

Fi[rN – 11 {(v.p\.}  

 --- (vPyi[ , k&lg&N, smy,a¿yisk\m,p(r$p tYi g&NBir 

  

 m&²y (vPyi[ -{(v.p\.} 

{1} Bi](tk (vXin {2} rsiyN (vXin {3} Jv(vXin {4} g(Nt {5} a>g\[J {6} s>AkZt  

{7}  kÀ¼y*Tr a¹yyn 

 k&l g&N – dr[k p\âp#ii[ 80 g&Nni rh[S[. 

 smy – 3 klik -  {kÀ¼y*Tr - smy-2 klik} 

ni[>F : {1} a>g\[J {2} s>AkZt {3} kÀ¼y*Tr (vPyni {si.p\./(v.p\.}ni p\âp#ii[ a[ksrKi rh[S[. 

a¿yisk\m – s>k&ln) v[bsiET tYi vi[T`sa[p gZp pr m*k[l vP< 2023–2024 m&jb ni[ s>p*N< rh[S[. 

p\âp#i p(r$p –s>k&l oiri aipvimi> aiv[l vP< 2023-24 ni vi(P<k pr)xi a[(p\l-2024 ni> p(r$p  

  m&jb rh[S[.  

g&NBir –   g(Nt,Jv(vXin,Bi](tk (vXin an[ rsiyN(vXin 

{g&.mi.(SxN bi[D<ni ti.28-07-2023 ni p(rp#i m&jb p\krN d)q aip[l g&NBir rh[S[.} 

-  a>g\[J, s>AkZt an[ kÀ¼y*Tr (vPyi[ miT[ n)c[ p\miN[ni[ rh[S[. 

j&n Y) s¼T[Àbrni a¿yisk\mmi>Y) -       20 g&N 

       ai[kTi[br Y) D)s[Àbrni a¿yisk\mmi>Y) - 20 g&N 

          jiºy&air) Y) mic<ni a¿yisk\mmi>Y) -      40 g&N  

            k&l           80 g&N 

 

  (l. 

 

 

s>cilk,sirAvt (SxN s>k&l 

 


